Spander Clamps

Horisontal spander. Force-pressure-hold.
Horizontal clamps. Force-pressure-hold.

N @D 2
>t
© B 1 N H
A ~— .
0 Qim‘m o O{Eo —tatals
Y yo 0 @
}<A>F<A2 Q s \J
AT A2 A3,
<
A1

Varenr. Vaegt F F1 F2
Item no. Weight daN daN daN

58.901| 0,09 | 90 | 25 | 6 |13,3|125|5,7| - |21,5|32|156| - | - | 2 |36|10|21|121| 41 | 15-30 | M5x30 |4,9
58.902 | 0,19 |130| 35 | 9 | 26 |37|5,2|13,7|28,2/39|20,6| 5 |4,8|2,5|46|13 |26 |163| 61 | 22-50 | M6x35 |5,5
58.012 | 0,27 |150| 55 | 9 | 26 |42|7,9| - | 38 |50|20,3| - | - | 3 |51/14/29|186| 57 | 17-44 | M6x40 |6,1
58.903 | 0,4 |210| 60 | 12 |25,7|40|7,6/12,9/30,3|44 25,8 6 |4,8| 3 |65/17|37|234| 81 | 28-67 | M8x55 |7,5
58.904 | 0,84 | 320 | 75 | 15 |40,8|57|7,8/20,5/43,2|58|39,1| 8 |5,7| 4 |80|20|42|301|106| 33-91 | M8x65 |8,6
58.906 | 1,5 |500| 90 | 18 | 49 |67| 9 |41,4| 53 |74|41,4/10| - | 5 |97|25|61|359|131|42-112|M10x112|8,8

A A1A2 A3 B B1 B2 C 9D G H H1TH2 L L1 L2 M N O «a

90°
90°
90°
90°
90°
90°

0|00 O | O O,

-
o

Spander Clamps

Spander, horisontal sidemontage. Force-pressure-hold.
Side horizontal clamp. Force-pressure-hold.

> . <
it ) A
— . Ky AV Ao
pim (" 5B T(Nes
> \
o A T
[ | [
. l\( - y v oy
- v < V= < i<
3 y y P L2
L1 “
o{c;'@ = ;O )‘
< L >
Varenr. Vegt F F1 F2
ltem no. Weight daN daN daN A A1 A2 B B1 B2 C G H H1 H2 L L1 L2 M N O «a
58.922| 0,24 | 130 35 | 9 | 20 | 32| 6 |27,5|38|255|5|2,5| 80 |13|60|163|55|15-43|M6x35|5,5|6 | 90°
58.022 | 0,35 | 150 | 55 | 9 |22,4|37|7,3/40,4|55|244|-| 3 |98 |14|76|186|51|10-38|M6x40|7,7 | 6 | 90°
58.923 | 0,48 |210| 60 | 12 | 24 | 38| 7 |30,5|43|285|6 106 | 17 | 78 | 234 | 74 | 21-59 | M8x55 | 6,5 | 8 | 90°
58.924 1 320| 75| 15| 32 | 52|10 |355|52| 32 |8| 4 |136|20 | 98 |301|96 |22-81 M8x65|8,5| 8 | 90°

106



Spander Clamps

Variabel horisontal spander. Force-pressure-hold. o
Variable horizontal clamp. Force-pressure-hold.

ot -
S CRen ) —

A3

A2 A

A1

Varenr. Vaegt F F1 F2
Item no. Weight daN daN daN

58.963%| 1,4 210 | 60 | 12 |60| 90 | 15 | 30 |23 | 49 | 34 |26 | 90-248 | 17 | 64-222 | 206 | 234 | 81 | 28-66 | 8,5 | M8x55 | 8 | 90°

A A1 A2 A3 B B1 B2 G H H1T H2 H3 L L1 L2 6D M O a«a

58.964%| 2,8 320 | 75 | 15 |74 |115|20,5| 37 |27 | 58 | 38 | 30| 115-274 | 20 | 78-237 | 225|301 | 106 | 33-90 | 12,5| M8x65 | 8 | 90°

58.966%| 4,08 | 500 | 90 | 18 |90|140| 25 |45 |29 | 62 | 38 |36|139-277 | 25 | 128-266 | 216 | 359 | 131 | 41-111 | 16,5 | M10x90 | 10 | 90°

58.077

Modsat horisontal speende. Force-pressure-hold.
Reversed horisontal clamp. Force-pressure-hold.

Pl
) o
(p]
x
AN
<~
Z E y
s v
o<( i ~C A
& <
™ 114 daN o5
76,7 N
| _Max. 42 -
[ >
224
Vagt F F1 F2
Weight daN daN daN
0,56 320 115 24

% Skaffevare / Special order item 107



Spander Clamps

Vertikal spaender. Force-pressure-hold.
Vertical clamp. Force-pressure-hold. N A

N @D
it
e - =
R > 'Y
Model B I == © 0
P oic A =|o|m Oi: @ o
K N
a ’.' O CP\, Q Q
; T < A2 >«
L N/ M 3 A3 A
F o F ? A1
= \ 2 A L N A1
#«—4&"- T °l- N, o @D
— ]
= e Y o © = EE
& o ¥ T, F1 Yy 0 o . [© ©
L2 o z g~
T © O
©)
A2ra23 Al
A
A1
Varenr. Vgt F F1 F2
tem no. Weight daN daN daN A A1 A2 A3 B B1B2C D G H H1H2 L L1 L2 M N O a
58.801 0,1 90 40 | 6 16 26 | 53| - |246/35| - |4 (49| 2 |[107{10|20| 62 | 36 | 12-26 | M5x30 | - | 5 | 100°
58.802 0,2 |130|70| 9 |20,2| 32 | 6,6 |12,6/32,4/43 |26| 5 |52 |2,5(132{13|24| 80 | 47 | 13-35 | M6x35 | 5 | 6 | 100°
58.112 0,37 |150| 65 | 9 20 34 7 - 133948 | - | - | 7 3 |176|14 | 28| 96 | 62 | 19-49 | M6x40 | - | 6 | 102°
58.803 040 |210|90 |12 |19,5| 35 |78 | - |342/48| - |6 79| 3 [189|/17|35|111| 76 | 19-61 | M8x55 | - | 8 | 90°
58.804 | 0,84 |320(130| 15| 32 (495 9 - |451/63| - | 8 |89 | 4 |239|20 |46 |151(102| 19-87 | M8x65 | - | 8 | 90°
58.804B| 0,90 |320|130| 15| 32 |495| 9 - |451/63| - | 8 |89 | 4 |239| 20|46 |151(102| 19-87 | M8x65 | - | 8 | 90°
58.806 1,58 |[500|150| 18 | 45,7 | 66 | 9,8 | 26 | 56 | 76 (45|10 | - 5 |278| 25 | 55 (203|137 |24-117 | M10x90 |8,3|10| 90°

Spander Clamps

Spander, vertikal sidemontage. Force-pressure-hold.

Side vertical clamp. Force-pressure-hold. A
P P >, <F2
v T
zi:D o 1 '
<|«< ;
\ ) /
B2, VARY
B >H<A o { (I
B1 S A o
T o
‘ .
\ o o
« F1
T
) Y
<12 ~C
L1 ]
Z@=I-E:
= =
¢ L
Varenr. Vaegt F F1  F2
ltem no. Weight daN daN daN A A1 A2 B B1 B2 G H H1 H2 L L1 L2 M N O a
58.822 | 0,25 | 130 | 70 9 |20 32 27,5| 38 | 255125166 |13 |59 |80 | 40 | 7-29 |[M8x35| 5,5 | 6 | 91°
58.823 | 0,47 | 210 | 90 12 | 24 | 38 30,543 (285 3 |230(17 |76 |111| 68 |11-54|M8x55| 6,5 | 8 | 91°
58.824 0,9 320 1130 | 15 | 32|52 |10|355| 52 | 32 4 1295|20(102|151| 92 | 9-77 |(M8x65| 8,5 | 8 | 91°

108




Spander Clamps

Forstaerket vertikal spaender. Force-pressure-hold. A
Strengtened vertical clamp. Force-pressure-hold.

H2 H1

O
%11 I
A

B1

Varenr. Veaegt F F1 F2
jtem no. Weight daN daN daN A A1l A2 B B1 B2 oDoD1 G H H1 H2 L L1 L2 L3 L4 «

58.211 0,46 | 300 | 70 9 28 |40 | 6 |34 |46 | 10| 6| 5 | 6 |143/14|35|85 |45 10| 6 | - |120°
58.213 1,5 700 | 130 | 12 | 46 | 64 | 9 |54 | 72|12 9| 6 | 9 |220|22 |56 |136| 72 20| 8 | - [119°
58.215 | 2,92 1200 150 | 15 | 58 | 80 | 11 | 68 | 90 | 156 |11 | 8 |11 |268| 28 | 69 |[170| 90 | 25 | 11 | 36 | 118°
58.217 58 [2300 200 | 18 | 76 | 100 | 12 | 76 | 104 | 20 | 13| 10 | 13 |326| 36 | 87 |216|116| 32 | 14 | 46 |[117°

Spander Clamps

Vertikal spander. Ekstra staerk med cover og lige base. Force-pressure-hold.
Strong vertical clamps with cover and straight basis. Force-pressure-hold.

Varenr. Veaegt F F1 F2
Item no. Weight daN daN daN

58.282C%| 042 | 250 | 70 | 9 | 20 | 33 |65/295| 78 |82 |61 | 3 |150/485| 20| 9 |865| 35 | M8x50 [116°| 3
58.284C % | 1,22 | 500 | 130 | 12 | 30 |44,5/7,5/39,5| 9,8 [10,2|8,5| 4 |234|71,5| 28 | 11 | 154 82,5 M10x75 |116°| 5
58.286C % | 2,49 |1.000| 150 | 15 | 45|65 | 10| 52 |11,8/12,2|10,5| 6 |278|87,5 36 |14,6/ 188|100|M12x100 116°| 7

A A1 A2 B B1T C 8D G H H1 H2 H3 L L1 M a R

% Skaffevare / Special order item 109



Spander Clamps

Push-pull spaender. Force-pressure-hold.

Push-pull toggle clamps. Force-pressure-hold. A
<(F2
I
F1. F T
<> ®'
E \ Py ‘[
S
Varenr. Vaegt F F1 F2
Item no. Weight daN daN daN i i 2 L = = = = L o |
58.031 0,19 100 100 9 94 10 20 70 14-35 | 20 | 24,5 | 13 M6x30 21 | 10
58.033 0,4 250 250 12 128 11 22 11 17-57 | 25 33 16 M8x35 40 | 12
58.035% 0,9 400 400 18 159 15 30 176 | 25-92 | 30 52 24 M10x50 | 67 | 16

Spander Clamps

Push-pull spander med beslag. Force-pressure-hold.
Push-pull clamps with bracket. Force-pressure-hold.

E L
v A T YN
(== CC o v, @) m
A Yo Yy
L2»—< LY v
> A2
:L1 >« Al
« L tagl
Varenr. Veegt P - F1 F2 nq a2 B B1 B2 G H W L L1 L2 M Mi N S of

Item no. Weight daN daN daN
58.032 | 0,35 | 160 | 170 | 6 |22 | 15| 36 | 24 | 50
58.034 | 0,70 | 250 | 240 | 12 | 26 | 17 | 42 | 28 | 59
58.036 | 1,38 | 450 | 300 | 18 | 34 | 22 | 48 | 35 | 69

11620 | 111 | 11-34 | 20 | M6x30 |M16x1,5|6,5|23 |10
143 | 26 | 162 | 17-51 | 25 | M8x35 | M20x1,5|8,2 |34 |12
174 | 30 | 205 | 19-61 | 30 | M10x50 | M24x1,5| 11 |42 |16

(23NN, N

10 % Skaffevare / Special order item



Spander Clamps

Push-pull spander med lavt beslag. Force-pressure-hold.
Low push-pull clamp. Force-pressure-hold.

L2>»

Y-

Varenr.  Veegt F F1 F2
Itemno. Weight daN daN daN

58.042 042 | 160 | 170 | 6 | 25|52 95| - 395065 6 |112]16|111|10-33|20| M6x30 | 23 | 10
58.044 0,84 | 240 | 240 | 12 | 35| 85 |125| - (46|60 85| 8 |137|20|162|15-49|25| M8x35 | 34 | 12
58.046% 1,66 | 300 | 300 | 18 |35 |100| 15 |35 |53 |70 | 11 | 10 | 167 | 23 |205|19-61 |30 | M10x50 | 42 | 16

Spander Clamps

Horisontal spander med bgjle. Force-pressure-hold.
Horizontal clamp with catch. Force-pressure-hold.

A A1 A2 A3 B B1 @D G H H1 L L1 L2 M S oT

<

<«
—
—J

>« @D
5
9]
>
[

O: \4

Varenr. Vaegt F F1 F2
Iltem no. Weight daN daN daN

58.721 0,16 200 | 180 10 |13 26|65 |24 |36 |19 | 52 |25 42|12 135-170| 28-63 | 11 | 20
58.723 0,36 400 | 270 15 |19 |35| 8 | 30| 47 | 25| 6,5 3 | 57|19 | 6 |185-230| 35-80 | 14 | 26
58.725 0,82 700 | 450 20 | 3251|9540 |64 | 36| 85 4 |75]25| 8 |235-300|46-111| 19 | 34

A A1 A2 B B1 B2 @D=N G H* H1 @K L L1 L2 S

N

% Skaffevare / Special order item 1



Spander Clamps

Horisontal spander med bgjle og sikkerhedslas. Force-pressure-hold. S N
Horizontal clamp with catcher and safety device. Force-pressure-hold. 8 oﬁ(— ]
Too . C:)i%,,m &
= y
>

Varenr. Vaegt F F1 F2 _ -
ltemno. Weight daN daN daN A A1 A2 B B1 B2 gD=N G H H* H1 @K L L1 L2 S

58.721B | 0,18 | 200 | 180 | 10 | 13 |26 |6,5|25 |36 |19 | 52 25|51 |42 |12 | 4 | 135-170 |28-63|11|20
58.723B | 0,38 | 400 | 270 | 15 | 19 | 35| 8 |30 47 |25| 65 | 3 |66|57| 19| 6 | 185-230 |35-80/14|26
58.725B | 0,88 | 700 | 450 | 20 | 32 |51 |95 /40 /64 |36| 85 | 4 |8 |75| 25| 8 | 235-300 46-111/19| 34

Spander Clamps

Vertikal spander med bgjle. Force-pressure-hold.
Vertical clamp with catcher. Force-pressure-hold.

Varenr. Vgt F F1 F2 _ -
ltem no. Weight daN daN daN A A1 A2 B B1 B2 @b=N G H* H1 H2 K L L1 L2 P S

58.731 0,16 | 200 | 180 | 10 |13 |26 |65 24 |36 |19 | 52 |25 /4252811 | 4 1034045 | 7 |20
58.733 0,36 | 400 | 270 | 15 |19 35| 8 | 30 | 47 | 25| 6,5 3 |57 |7-35/14| 6 (14252 | 6 | 8 |26
58.735 0,82 700 | 450 | 20 |32 |51 (95|40 |64 | 36| 85 4 |75|945/19| 8 |179|74| 8 |95 |34

Spander Clamps

B1

Horisontal spander med sikkerhedslas. Force-pressure-hold. 58.903B
Horizontal clamp with safety device. Force-pressure-hold. 58.904B
o]
. P
A3
--' A2 A
f‘b I 5 Al
"’\ﬁ ﬁ TS
ﬁ 20 58.906B . ;

Varenr. Vaegt F F1 F2
Item no.  Weight daN daN daN

58.903B 0,43 |210| 60 | 12 |25,7|407,6|12,9/30,3/44 2586 | 4,8 |3 |65| 17 |37 |234 | 81 | 28-67 | M8x55 |7,5| 8 |90°
58.904B% | 0,88 [320| 75 | 15 |40,8/57|7,8/20,5(43,2/58 (39,18 |57 | 4 |80| 20 |42 | 301 |106| 33-91 | M8x65 |8,6| 8 |90°
58.906B 1,56 (500 90 | 18 |49 (67| 9 (41,4 53 |74 41,4(10| - | 5|97 | 25 |61| 359 |131|42-112|M10x90|8,8| 10 | 90°

A A1 A2 A3 B B1 B2 C 6D G H H1 H2 L L1 L2 M N O a

12 % Skaffevare / Special order item



58.903SS

Rustfri horisontal spaender. Force-pressure-hold. i
Stainless steel horizontal clamp. Force-pressure-hold. P

v
: Y 8
A =0
2867 v [0 ° Otfeokes

- (Oi w0 o 3
81 A 0o O \[Nvmvv
7,6>» 142:§>
<25,
0o0 4
o fo = i )
0o J |
o 234 -
Rustfri spaender, horisontal sidemontage. Force-pressure-hold. i *

Stainless steel, side horizontal clamp. Force-pressure-hold.

106

—
Yy \

58.803SS

Rustfri vertikal spander. Force-pressure-hold.
Stainless steel vertical clamp. Force-pressure-hold.

~. 189

% Skaffevare / Special order item 13



58.823SS

Rustfri spaender, vertikal sidemontage. Force-pressure-hold.
Stainless steel side vertical clamp. Force-pressure-hold.

58.723SS

Rustfri horisontal spaander med 6 mm bgjle. Force-pressure-hold.
Stainless steel horizontal clamp with 6 mm catcher. Force-pressure-hold.

S 65
Y gy = A
oy = 0 Rl
SA? 9 = ]Vc\lvco <
B (P @ 4
T
~
[Te]

58.733SS

Rustfri vertikal spander med 6 mm bgjle. Force-pressure-hold.
Stainless steel vertical clamp with 6 mm catcher. Force-pressure-hold.

< 142

14 daN
6>
>« 6,5
|
90 7
I:Dw
90 G
8| »He> [19
<«—>» 35
52

Y

57

25
32
47

114



58.033SS

Rustfri push-pull spaender. Force-pressure-hold. N A
Stainless steel push-pull clamp. Force-pressure-hold. <12
daN
Rustfri base til push-puli 250 250 _ &
Stainless base for push-pull daﬂ( BNy ®
= ' ORI
A9
40 '
o 2 33
U
= = !Lr_" y
N 9
x )
»—< 25
f 17-57= _
N 1M g

U PR, N
A1 A2
jarenr. V\II/ZS/: ., A A A2 A3 B Bl @O G H HI N
58.132NG 0,06 kg 22 7 36 32 50 7 16,2 4 34 10 6,5
58.134NG 0,1 kg 26 8,5 42 30 59 9 20,2 5 43 26 8,2
58.134NGSS 26 8,5 42 30 59 9 20,2 5 43 26 8,2
58.136NG 0,18 34 10,5 48 30 69 12 24,2 6 51 30 1

Dobbeltarm Bi-thrust beam

>l L !
M
i =
— 1T L 1 - A
T
| — 1 7V
1 [ ] 1
T
. . Y
L1
Varenr. Vagt
T Weight H H1 L L1 M Mark for
58.502 0,14 30-44 14 96 32-80 M6x40 8.2..,9..2..,012, 022, 052, 112, 152
58.503 0,24 39-53 17 120 36-102 M8x50 8..3..,9..3..
58.504 0,35 40-71 20 150 48-132 M8x65 8..4..,9..4.
58.506 0,73 51-81 25 200 50-160 M10x90 8.6..,9..6..

115



Trykfod Set screw Trykfod Set screw

Trykfodlspndebolt med vippefod.
Self-aligning set screw.

Trykfodlspéndebolt med feder,
Set screw with plate springs.

5 () () A - =
2] = 8 A ]
= — — Y I
«—>|
H1 H
Y H gl
a
Varen. Varenr.
Htern no. [ M I S ftern no. D H I a Wk for
it 54-56 16-18 M6 | 17 | 16 Bt 19 | 68 | M6 | 15° 213, 253
st 68-71 22-25 M8 | 19 | 19 it 24 | 80 | M8 | 15° | 215, 255, 422, 442
shsto 94-98 27-31 | M10 | 24 | 24 shite 30 | 101 |M10 | 15° | 217,257, 424, 444
Trykfod Set screw Trykfod Set screw

Trykfodlspandebolt med vulkaniseret qummifod.
Set screw with vulcanized beam flange.

Tryfodlspndebolt med lys qummifod.
Set srew with a light beam.

A \
8 = 8 =
A v
“H1 “H1
H <€ A r gl
Varenr,
Item no. 0 U H L
58,621 13 38 10 M5x30
i 0 h i !
58622 ¥ 16 45 13 M6x35 Item no.
58623 21 63 16 M8x50 5863 15 46 13 M6x35
58624 21 78 16 M8x65 58,634 20 83 17 M8x70
58,626 26 116 20 M10x100 58.63% 25 93 18 M10x90
Los qummifod.
Rubber foot.
L D1 _
D ~
.................. =
@D
Varen, ®
Item no. i l f I B’Bus
5&641 1 2 1 6 1 0 M 5 NEEEE SUPPORTING YOUR SUCCESS
BIBUS SK, s.r.
$on 14 18 11 M6 Trnavska 318, rS(:(-94 901 Nitra
S 18 22 13 M8 Tel.: 037/7777 911  Email: sale@bibus.sk
58,646 20 26 16 M10 Fax.: 037/ 7777 999  http://www.bibus.sk

S Skaffevare Special order item





